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XF:(2000) AF3] N H 2 (2100) N YL 254 &:(2120)23ta = 22 Mt (2125) 018t 25 2 22| HIMIEE: (120) 2 AR 2| [2HUAMAA] (S FHA)
J| eS| - _
ni: = ml&ﬁoﬂﬁoﬁ”%A% A = | ES
o OISHRAMAIZER L AL A
(DIt 23t 2220 A)
500 X 1,104 = 552
o MII(2ME) ¥ B2 (0}ttt 2t2I0A)
500,000 X 24l = 1,000
O [B222 2 HA] = 11,717
o M|, 22 (0Ist2tAS22I0A)
1,952,833.33 X 62 = 11,717
O [2d9xY] = 2,370
o UXLCH(DISHRIIAMP2CI0A)
30,000 X 19! X 79 = 2,370
O [2&H]] = 1,080
o BA2Y S A(20l, 08 EII23H0IA) = 1,080
O [¢2H]] = 2,330
o AMRA!, HIXIHAEL, e 2]
(DIEH2 A 22210 A)
899 X 1.79984 X 8AIZF X 60 X 3MA = 2,330
O [AIZEHIKXIH|] = 6,986
o W=D, XCI2D| S2U(0ISI2 A 22] 0 M)
1,436 X 92.96 4 X 4CH = 534
o XYLUAHAIIIS2(0IEI2SIAIE22I0A)
1,436 X 189.41¢ X 104 = 272
o NEEAIZSXIHI(0EH23HAIE 2210l A)
1,510 X 993m" = 1,500
o St&EA SXHI(OIEH23FAI A 220 A)
12,000 X 120m = 1,440
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Pl eS| - _
ni: = ml&ﬁoﬂ,\}o”%A% & = b ES
o FUEIS S XIHI(ODHEH2SHAIE 2t2I0A)
1,500,000 X 14! = 1,500
o FIAEA 2L A0 (0II2AI S 2|0 A)
90,000 X 3HA X 23| = 540
o Wse2l Algie] D22 31&A ALK
(DISH2 Al 2210l A )
600,000 X 2MHA = 1,200
202
O H 2,730 0 2,730
2,730 0 2,730(01 2LH04HI
O BN2Y ZHHA(Z0!, O, SII23H0AM) = 2,730
307
012H0| & 4,000 0 4,000
4,000 0 4,000|04 IZIHAIE X - 2/ E
O YolAlAF Ml A (OISt 23t 2210 A)
4,000,000 X 13| = 4,000
200
AR Ol AF 44,982 0 44,982
220
KHRI AL 44,982 0 44,982
206
WIS 2,812 0 2,812
2,812 0 2,812100 MZ4l
O &4 &K P (0tet23HAIE 220l A)
40,000 X 3HA X 6% = 720




:(2000) AF 3] N H 2 23514 M8t (2125) 01823t 2 | 22 MIKIEE: (220) RERI AF [=2xY Q&
= A % & B | S
O XZS ALY MsAT (DI SHAI L 2H2| 0l A)
7,000 X 35 X 23] 490
O &0 MEs RA(DHEH2SAIZ 22I0A)
7,800 X 104 78
O &Y MESARU(FINARL) 10,880 X 50 544
O ZZ&4 FHIE Ha232Y 10,000 X 30X 300
O HIgA A2 & X228 2
(OFBt2 AL 22 0l A )
16,000 X 42.5012] 680
401
A& H L2 1,600 1,600
1,600 1,600 01 Al&dHl
O II2S |XE4HI(0Iet2AIE 220l A)
25,000 X 36S 900
O &, 228 92 (0Iet23tAIE 220 Al)
350,000 X 2% 700
402
BI2EXE0| A 25,500 25,500
25,500 25,500 |01 2I2IX=E =X
O LSEHRY(OIE2FM222INA)
7,500,000 X 14! 7,500
O MHHI MR (DIEH23 MR Z2I0A) 7,500,000 X 14! 7,500
O EMHIZ P (DIEH2StM S 2210l A) 2,500,000 X 14! 2,500




&:(2000) AFSI ORI 2:(2100) S L 2 5th| & (2120)2ste A 22 Mg :(2125)0tst 23t s 22l HIAIE: (220) REAI A [EHUAMEA] (S EHH)
J| & - -
o = O &M g w (B A At & p] =
O JIEt EETRH (OS2 3HA 222/ 0l A)
8,000,000 X 14! = 8,000
405
NIRRT 15,070 0 15,070
15,070 0 15,070|01 XAt U S ZF S|
O ZSAIITY(DIE 23 NS R2I0IA) 6,000,000 X 104 = 6,000
O S4+8F2I|2Y (D25 A 2220 A)
300,000 X 404 = 1,200
O BAFZE AP (025 22/ 0 H)
230,000 X 109} = 2,300
O BAFZE NP (OHEH23HM 222l 0 A)
10,000 X 2000 = 2,000
O SIHN (OB 28 M 2RI Al) 280,000 X 174 = 280
O ABICH(DIE 23 A 22210l Al) 150,000 X 17} = 150
O A28 2TUEDY (OISRt 22l 0 AH)
1,000,000 X 1CH = 1,000
O P28 +ANE B2AEAITPY
(Oret2stA 222l ol A)
1,010,000 X 1AIE = 1,010
O £HBUE COIPY (023t 222l 0 A)
300,000 X THIE = 300
O gatet MBHAD| (OS2 EHAIL B2l 0l A)
150,000 X 1CH = 150
O SEITYU(DIE2BAILB2I0IA) 120,000 X 4CH = 480




Z+:(2000) AFSI JH 2 2 (2100) R L 23| g:(210) 23RNl ME:(2125)0tt2s DAl MIAIE:(220) KM AL [2HUARAA] (S9:H)
Il = . -
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